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PART A: Vocabulary

Directions: Choaose the word or phrase (1);(2), (3 )5 0r(4) that best completes cach
sentence. Then mark the correct choice on your answer sheet.

1-  The rise in unemployment was just a further ---------- of the government’s incompetence.
1) inclination 2) approximation 3} modification 4) manifestation
2-  The country’s most valuable agricultural ——--——- - include wheat and rice.
1) revenues 2) attributes 3) proportions 4) commodities
3-  These changes are a(an)--—-------- to wide-ranging reforms.
1) prelude 2) allocation 3) schedule 4) implication
4-  Honesty is a very attractive character ——--—---- .
1) trait 2) prospect 3) conviction 4) outcome
3-  The driver was found guilty on —--eeeeee the speed limit.
1) pursuing 2) enhancing 1) exceeding 4) surpassing
6- The members of the committee will be —---—- -- on October 25.
1) restoring 2) locating 3) convening 4) accompanying
7-  The region necds housing which is strong enough o -- severe wind and storms.
1) object 2) recline 3) diminish 4) withstand
8- Two decades —=--m-m- — between the completion of the design and the operation of the dam.
1) overlapped 2) intervened 3) transferred 4) overwhelmad
9-  The --—eemmm goal of this research is to gather data on the process of first language acquisition.
1) principal 2) successive 3) continual 4) insightful
10- Flexibility is ————-— to creative management.
1) intrinsic 2) compatible 3) forthcoming 4) contemporary

[ PART B: Grammar

| Directions: Read the following passage and decide which choice (1), (2), (3), or (4)
| best fits each space. Then mark the correct choice on your answer sheet.

The computer evolved from mechanical caleulating machines that could do arithmetic by having
cogs and levers that turned and moved (11) -—------- numbers. The first one was built by the French
inventor Blaise Pascal in 1642, Pascal’'s calculating machine was improved over the next 200 years,
and in 1833 the British mathematician Charles Babbage designed a machine (12) ---—---— be
“programmed” to carry out. different mathematical operations. This machine was called the
Analytical Enginel It (13) -==mseee-- to have the mechanical equivalent of the input, processing,
memory, and output units found in today’s electronic computers.

Over a hundred vears (14) «--------- . in 1944, a mechanical computer, powered by electricity, was
completédiin the United States en Baddage’s principle. (15) ---------- , in the previous year, the first
electronie computér had been built in Britain, It was called Colossus and was used to crack enemy
codes during World War I1.

11- 1) representing 2) torepresent 3} for representing 4} from representing
12- 1) which can 2) that could 3) where it can 4) where it could
13- 1) meant 2) was meant 3) had the meaning 4) was the meaning
14- 1) subsequent 7} next 3) later 4) following

15- 1) Since then 2) Therefore 3) However 4) Afterwards
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PART C: Reading Cumprehensmn |

Directions: Read the following three passages and choose the best choice (1), (2), (3), or |
({J Then mark it on your answer sheet,

The tropical rainforests are home to more species or populations than all other biomes
combined. The leafy tops of tall trees-extending from 50 to 80 meters above the forest
floor-forms an understory. Organic matter that falls to the forest floor quickly
decomposes, and the nutrients are recycled. Rainforests are characterized by high rainfall.
This often results in poor soils due to leaching of soluble-nutrients. Oxisols, infertile, and
deeply weathered, have developed on the ancient Gondwanan shields. Rapid bacterial
decay prevents the accumulation of humus. The concentration of iron and aluminium
oxides by the laterization process gives the oxisols a bright red color and-sometimes
produces mineral deposits (e.g. bauxite). On younger substrates, especially of volcanic
origin, tropical soils may be quite fertile, as are the soils of many seasonally flooded
forests, which are annually replenished with fertile silt. Rainforests are home to two-
thirds of all the living animal and plant species on the planet. It has been estimated that
many hundreds of millions of new species of plants, insects, and microorganisms are still
undiscovered and, as yet, unnamed by science. Rainforests are also often called the
"Earth's lungs," however there is no scientific basis for such a claim as tropical
rainforests are known to be essentially oxygen neutral, with little or no net oxygen
production.Tall, broad-leaved evergreen trees are the dominant plants, forming a leafy
canopy over the forest floor. Taller trees, called emergents, may rise above the canopy.
The upper portion of the canopy often supports a rich flora of epiphytes, including
orchids, bromeliads, mosses, and lichens, who live attached to the branches of trees.

16- The passage mentions that -——-—-—o-,
1) rainforests are often of poor seil
2) decomposed nutrients are quickly recycled
3) tall trees normally extend 50-80 meters
4) forest floors can decompose all organic material
17- It is stated in the passage that
1) Gondwanan shields cause rapid bacterial decay
2) the lateralization process produces iron oxisols
3) soils of many seasonally flooded forests are fertile
4) substrates of volcanic origin are called tropical soils
18- The passage points to the fact that
1) we can see nearly all plant species in the ralnfmest
2) it is not scientifically accurate to call rain forests the earth’s lungs
3) scientists have difficulty finding names for rainforest plants
4) rainforests produce most of the oxygen the carth needs to survive
19-° We may understand from the passage that
1) epiphytes do not grow on the forest floor
2) it is not possible to live in a rainforest
3) orchids bromeliads and mosses form emergents
4) there are only a few species of flowers in rainforests
20- The word ‘canopy’ in the passage refers originally to a kind of
1) ‘“door’ 2) ‘building’ 3) “table’ 4) “cloth’

—
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As a silvicultural practice, the removal of stems or nearly all stems provides.an ideal
situation for the regéneration of pioneer species, that prefer or require high light, high
resource availability and disturbed sites. A clearcut is also the means of regenerating a
coppice forest. Clearcutting is one of many silvicultural treatments that alter the
environment for regeneration to optimize harvest. The type of regeneration method used
depends on the land type and the species desired. Managing for a large area of even aged
trees has benefits over multi aged management. Damage to residuals, or trees not cuf 1s
minimal in a professional logging operation, but in the developing world, residual trees
can be damaged (often fatally) in the removal of the other trees. In a situation’ where a
vast majority ¢f trees are valuable to harvest, it is easier for loggers and economically
sound to remove trees in an open clearcut, as opposed to moving equipment around
standing trees. Clearcutting commonly leaves residuals, either trees of value are left
standing to stabilize the area or trees of no value or less value are left standing because it
was not economically worthwhile to harvest them. The latter practice leads to a kind of
high grading. The stunted trees and the undesirable species will grow and re-seed the
area, especially where no seed bank or root stock of desirables are present. The less
desirable stunted individuals from a valuable tree species will generate less viable
individuals, often passing on their less vigorous genes. In the field of forestry planting is
often prohibitively expensive and a clearcut often leaves seedlings wvulnerable to
herbivory.

It is stated in the passage that —————— -

1) pioneer species lose all, or nearly all, their stems

2} high resource availability can disturb plant sites

3) a coppice forest results in the regeneration of a clearcut

4) professional logging operation does not do. much damage to residuals
The passage points to the fact that ---————- -~

1) residual trees are used as logs in the developing world

2) we may apply multi aged management to even aged trees

3) sivicultoral treatments can be used to optimize harvest

4) the equipment around standing trees are removed for clear cut

The passage mentions that ——-————,

1) residuals are often left after clearcutting

2) trees of little value can be economically warthwhile

3) high grading is in fact an economic harvesting

4) loggers are mainly interested in residual trees

Which of the following is TRUE according to the passage?

1) The root stock of desirable species grows on stunted trees.

2) Planting is often too expensive to perform in forestry.

3) Stunted species sometimes grow to develop desirable species.

4) Vigorous genes should be passed on as viable individuals.

The word ‘vulnerable” in the passage (underlined) means open {0 ----=-n=emma- .
1) ‘harm’ 2) ‘harvest’ 3) ‘growth’ 4) “life’
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Depending on the forest, the development of old growth characteristics may take
anywhere from a century to several millennia. Hardwood forests of the eastern United
States, for example, can develop old-growth characteristics in one or two generations of
trees, or 150-300 years. Often the disruption is the result of human activity, such as
logging, but natural phenomena that produce the same effect.are often included in the
definition. Secondary forests tend to have trees closer spaced than primary forests and
contain more undergrowth. Secondary Forests typically have less biodiversity than old
growth forests. Usually, secondary forests have only one canopy layer, whereas old
growth forests have several. Secondary forestation is common inareas where forests have
been lost by the slash-and-burn method, a component of some shifting cultivation
systems of agriculture. Secondary forests may also arise from forest that has been
harvested heavily or over a long period of time, forest that is naturally regenerating from
fire and from abandoned pastures or areas of agriculture. It takes a secondary forest
typically forty to 100 years to begin to resemble the original old-growth forest: however,
in some cases a secondary forest will not succeed, due to erosion or soil nutrient loss in
certain tropical forests. Secondary forests re-establish by the process of succession.
Openings created in the forest canopy allow sunlight to reach the forest floor. An area
that has been cleared will first be colonized by pioneer species. Even though some
species loss may occur with primary forest removal, a secondary forest can protect the
watershed from further erosion and provides habitat. Secondary forests may also buffer
edge effects around mature forest fragments and increase connectivity between them.

The passage points to the fact that —-—-—-- -

1} hardwood forests are formed over 150-500 years
2) human activity disrupts natural phenomena
3) forests do not usually develop old growth characteristics
4) secondary forests are denser than primary forests
It is stated in the passage that .

1) biodiversity spread from old growth forests to primary forests

2) the slash-and-burn method does not affect secondary forests

3) both old growth forests and secondary forests have canopy layers
4) shifting cultivation systems of agriculture have only one component
The passage mentions that ---- .
1) forests do not usually regenerate naturally after fire

2) it is possible for areas of agriculture to tumn into forests

3) the original old-growth forest is actually a forty to 100-year old forest

4) secondary forests may cause erosion or soil nutrient loss

It might be understood from the passage that —------ A

1) canopies in secondary forests protect their watershed

2) secondary forests are in fact composed of mature forest fragments

3) removal of the primary forest does not end in complete loss of species

4) the forest canopy can touch the forest floor

The passage mainly ------------- secondary forests.

1)classifies 2) describes 3) criticises 4) discovers

MMQUU,)OM}'WM}UQEW‘,)L"&PT



o of @nm)lf Q,n}TMQQU -9 fw)&w

8 ami IF-Yar e gjalefl g pulid S
T 513 551010 4 90 g 1025 ot 33 510 JR0mr Moz yle 51yt I b 2y plas

e (F ool 7 logl (Y alyl

Tagls pli az diagsl dle po 30 o ya pr Silaas £

ST G2 S (T o SL (Y o A0

Vosdd ol o9t 1) Sl pais 1 Suplas

o395 (F O3 e (F Sy hs (Y oy ()

LT — D90 43 Vpana dlusae Ghlie ;3 5 whe el Sl wsums

=S (T Ze--iy gedas (¥ wlesys (¥ wshyal ()

i lapliil s Bhlie wlas 1o Dose el as gls 152n

Al St ml LIS LYl g ace oIS LS (Y wl e ar b Wand (LS L alls oA ()
e oIS o508 1l oy 4l F A5 8 ek el LYl § i s S (Y

Pl 12395 21 SV A j3 51 53l8 J5 Gl &3 Canid iz Cotrlinss o5 (g0l 51 Ky plus 0

laLils” ¥ il (T oty Aiuans )

RUT- 1T —— ke s glaaiyf ¢ jl Dalbergia latifolia

il 2ae (F I g (7 et e (Y ke (Y

_ andl g il ST S 5 glaaigf jI S plas
Sanicula europea (¥ Juncus effusus v Carex silvatica (¥ Asperula odorata ()
I S TS " Y Y JRPCO TR S

o35 pli T giige (F S iy (7 FAok (¥ sl ()
Togdign v 1) (50l § gl )50 5 Sl jlas B0 5lb g gum 23T 10 590 plas

7 (T o =l (v slazz

Tl gy digF WhAT |y 3 20

o (F ok ol (T s (F oy O

Pl (il o By phaF gyl fols (5391015 sladey e
% - ol O

]
Y i
ol 175, e

s lw (F

Tl iy g9 digF plas

jyea (F e 1 oy (F wledd (1

Tl 3 2l po oyl g | adilin phad 30 55 0

ot (f G5 (7 Jus (v s ()

T 5f o0 Cpgee it n) Jolpe phS 30 qur dy Caly 1 s i s gl Cyliy 9 o E ol

JU g Sl (F Jw s Jeiw (7 5 gt g Jlo (Y My S,

Tl paligh b po @l Il o dg 3o o

s (F jn (¥ shaass (¥ 3l ()

Tl ol aigd alaf (gogas | o onad) olii )l 2T acels

syen (F zele (V e slEagd (Y =k ()

TS o (et g3l gal |y i oy Jla 51 8T sla B 53 penil aiy 3F plas

Jr AF sladsyy g laamasia Gl (Y Quercus infectoria iyl 5 1580 ()

Quercus persica ly 3 2sls” (¥ by ki glaaiy? 3 fals (Y

TP T — e R P L P p—

I - rals (T QPR — pals (Y el - ldl (Y il - alis O

toal a1 i 05555 1 o y9eke 3G

e polie g Ol apss il (Y 2y cslagypeppe Gl ()

isrs g slaead sl (F 2 Slpn g ol i i (7

Thigd oo fraenr iy 38 plaf b i slpale o(T) wilale gled bamgzn o (P) ailale (Fui sl oliee 4 daei b

P=xT F P=T (¥ P<T (¥ P=YT ()

At v ARlled 0 aadyi' JUd (59 Gl e G jeilee e 50 Jama lad il

S3pe 55 (F ol gl (T bl (g b (T Sy g kay ()

sl gt ol Jlads (R S p0 plal w5 &l Gl

o (F i (T S o3 O

: Pl Jole alaf L5306 G Allopatric olus

- 5 (F Sspled (¥ P o

Tl 22, S 25,3 = s

03 Ol (T byl oo oy (¥ a8y (Y e lfd’_' J:f:::-:
P Slelii ;o s foa & 2 -0 idas S 5lyS1 yd oF

oy (F Sl g plals (T SR u:{r i ‘hh:i:?;

=TT

=TT

_TF

-Th

-5

-¥Y

=TA

-y

¥+

-1

-FY

-Fr

-FF

-FF

-ty

=&

-&Y



W IrYas S s i g el
oS (ot Canglin daomo (a9 plp g3 Wbl oy, b O30 plas

e Juz= (¥ gl (Y ot

T T oy S gty I (ot et

Clad pd ud T el (F S5y g (T Ll oo 1 glas 4 slod (Y iy geaF lasl ()
T 08 Jluiiy o 03] Sl 51 Sy plid 0gae

sabina (¥ polycarpos (v foetidissima (¥ communis (\

Tl 25155 3580 plaf youts jaloFl glhagf  pasidd

et e (Y oliiay, il gt (1

i glaats oF goai b (F b A s iy (T

Sz g yafle il y jlal g g ylaliie

¢ e Sl rok Sldier g Fanme az ol ae3 Job el

Y PO [T b e 0 ()

o o S 3 hee | pdn g alil 3 lae  piny (F iy g A0S (T
Tl gaap8 g2 Jorlpe 51 Suphaf AR 5ol ojam o sl £k K dndf 50

laa,S,15 5 Sy o slejls Jilas opmead (V S las 51 ol g 4 ()

s g (F il oS ela asle g o lons i (T

el et plamil 1) (2 )Ll S pike ey g jal oy sl SR ) 01

areled S8 Ll o5 kel (T P Y PR

proled 55 Lo 58 g Ll g podled ags |y e (F el 2l ) 228 g Ll g i (T
Sl . S v S a5 ol e

gind slmey 5yl (Y oo ki (0

R ol Ll s (F i w5 Tl ppliie 44 (T

il 3 ylge plad’ ol g slafoor slap gl Coudige 8

4 pa (¥ s a4y gl o (7 ' SIS Izl Js Q)

1 wid e Jlowas oljails gilaliim e 40 il 2598 Slagasas

b gz g ol 232 ol s I e e Lo (F Sile S gy S5 o3l gl e e e (Y
ey Ol ampr S5 g sl ps e Jals (F g Sl e Sam e e A el (T

S il g0 e Cauwl oy phasw fgadan VT il ITYF Jla 30 jL5a T80 & sy i (5] gyhaliie aaly 5 gl g (goga g
Jas il g plw Yo o 000 I*.:.!,.-.m OTYYF — AF) rle sl Jlw ad S b ool sog gl ales Ve plu ATAF Jle 4o
Cadila g oyl st lad 5300 0 iy 450S Wi fug; Jolus suss] allacnd aeliy 0 padbil 4303 aaad B el suaa T g 08 e

Togt udlys phons s Jior ol I

YToowea (T Toooo (T VAo ooo (¥ Yho oo ()
Togdign wigeumma (aaly « pudie lld) gulnnils wilidia by dew I pidn Jalpd 51 15 slaais ¥ 51 Suplas

Sils e sllaly g e (T lafoly Zaaln grdge oSy ()

6581815 yom pdie g Tl iyl (F S e B 53 (812t e SOt S5 (T

Ol pogpin day as Un i il 1 oo iy dorly 00505 uladie agary 3 (S lpim 0 490 Gl
Sypee 5 038 g s gl Sl sl Dl B OO

el Jyms M3y Geimen 02y glel 5 i ptal R sl i) Glsre e O

e (Mol B eaei el g (Sl apasd S 0) Sl apasd Ll Gaa b (T

335 g0 AL Ay dloyma) (5 )l pe s Jone aimad g iz 0 a3 papde 4y o (F

e ALl Gy go Bl a TMB %) £ 9 SRR 13 poms S3pmrpe cafapma TTO gl)ls 4F fees B2 B3gd o5y
b Y (= R

=¥ (¥ =<T,¥ (T <T,% (¥ =¥h ()

Syl i Canads 30 Anlad ol i Sl S s p 0 o il Vo slola Vo 0 0 ulafia 4y MEES gy il (30 il Sy
Yoo (F Yo v Vo (Y TAT- R

Tl g 5 Y gl Cada 5lla gy AT oSl (5500 0 1 0592 B 2 0TS g e g lalBe gla gy e

A=ty Sl F onon Wil (F ala o (Y ! ks ()

IR, IS | PICA T ey | | ¥ L E TS —-—T Sy [ ST PO e g L L

R R P B o i 5 ol (Y o i b Jlaasli (F LS 0 ohawi o Jlasls (1

sy Jlodl gama gogm 9o il phaf Aad gogrya g S50 50 gl T o Wldlo oy, 4 )58 10 @ 0 Carlns iy AR amly oS 5o
Jloasl sy 1y o lad gl o 539290 Wlachs 332 g1 Sl G g ey dilin Conl JISA 3 gl Vo 0 gl Gur Syl
Tl wly glow w3 abs g ey p2 Willo jlone Sudils 1Rl yppenilos

Teeao (F boo (T YV (Y Yoo ()

P! prames | Jlwanl oljaila o S po Sulle g Bl ) ae p0 a3 alad

o g Jale gy oatla g G Glpee s 3 ()

o [hgg ) A e s Sy S 8 i o 2l L e (T

ol 29y b Al ares Ja saly S e sl 2oy I e (T

TV N R | P - PP S PP -1 N WP L SN | IR O SR 4

=0

-&8A

-84

=

- F1

-PY

-FT

-FF

-Fb

-FF

-FY

_FA

—-F4

-¥T

V¥

-¥aé



W (gl )15 (3903 T (it ol g found
ol B 09051 (sl col w9 So

L TS - n_';lJ.ilj Jl.n-‘ }ﬁjkﬂ.ﬂ-ﬁ' >
il 503,8 Jeals o) gl oDl g g pao3lail J1 s o S 50

Edihi='\"mwni:mf

E.cl;rll-L=='I’."..ll'n.-m-=--=-t:m1r

Ed:l :]nnnu{:mT

: : ) o oo 2 539) €6
I'I.L=T|'l-||-l:l- 'l:f I'IL =T.F"||‘:'| v hLZ'['T'_,u.'-'I {T I'I.L=TTI|'¢ ]
£ s el dy Sl g ELT 51 50 25 glagliama 5T Syplas
UL iy P S, G ok O

-------------- P02 a5 e VB Sy BT gl T pa L)) (5 el s pa B Sl b o e il Fo g s it 5 S e Sy 595
Sl g0 )T Cudle AT b Hia e il

TF (F Y$ (t V(Y o /1 ()

~ojhil azyd VO ALE g9y 30 4F (g pesn g i ddly (B0 Jlod dzryd VIO aii S Jlod @ o punabliin Jlod Sl poul 51
el oz ys wlar Uy g ladealad U fan 60 99 0okl i g

VYo (F YYIS (7 Yo (Y Fo ()

8 pasms Jale o ol s il V Ko 0 0 paladio b 1,5 g0 g8 4l (05 posmss & Sl sl Sl oK £ Snin g 51
gt g pafeihiil o o aleol Vo alide b 33 F1 el Al Yo b plp g p5e il & wiols b Ln gl slaad el 2o il Fo U iy
Ul i iz Connle 33 g pafailail 350 LS 50 agie alsld

Yeo (F Yoo (T So (Y Yo 0
Ao b Glesas Foolad jlai glgs b S g0 Jad o pody o ai dinser iy ol wo aSuly olfcied b S50 500 TO aloll i
th Sl il g g il e Sy
VYh (T Ve e (T Aa (T Yo ()
cad ooy Jole )y ulil Jhi S )0 Y 9 X poie 99t Y =AHDX | Jas 83l (e )T ) dnlna gl
y=T4m
X=pecm
a=Te

Tl ol (g o) ol po b padie s b
b=eo5 (F b=e,¥d (T b=e,¥ (Y b=op ()

e i ‘5J|~.:|-_1.|_J1.-i aFns ol o i rlis BBl g0 ey B b @l gyla g Jhlm’h‘!&f::ﬂ Tooo dige dabd K Corlss

Vil

ThoxYoo (F YooxYoo (V Vaexide (Y \eexioe ()

P gt oo olizil a3 5l slhacilon dz (5 T i1l (5l 29l 2l sl olfnss

@J}&@&EWJJJE” C&;Jlﬁ—;‘x#@w{f

i R L T ] T =T L PR LI i TP _ﬁ.ﬂ.‘r'-ii'-l To b plpiie cew Ll 4l 24 _;-}u-u-'-ﬂ:' poy Sy Carlas
Pl

Yoo (¥ Yoo (Y Yo (Y Y

i 3y g0 S 2T Wi &y oplade i g5l ) P T nen B gyl gy i il A

Smp Juo Vo agae (F FEE olajes (¥ ()

il 80 Jlamzal pj Sl gearms plad 5l s el gl T2 8 o] gl ot o 4F s (g pufojlail S yo abol Vo 0 Jim S5 40
Vi =A0 yiulaiub poe Vy =hom| oalf eV, =1FTM i g

Tl Jlile az plows v b 02l 0 1F e oty ol i 5 T

s /40 (f o /% (¥ o IAG (¥ o A ()

b o po ai I pms bligs 50 TIA Col @ms plp ol cieai T a3 &5 glne 151 g 2030 50 WD (3533 s il plain i
E ol e yio aiz sy Jpo b 31 oolicie)

Yolb (¥ Tyb (Y YYIEL (Y ART - NA!
el JiJi_r_l (€) o y3 ald boma g {d}i-.!-_,#}ht Cyd L]!'.'E kuly 3 S plad
I c C mn [
=haf— =— (¥ d=— (¥ d== {}
a4 n & 4 n t c ¢ 8 (

Bo g TTIO glii )l 48 g fa il 10 © (g% FIB glid)l 3o i Canl oo FO ol £ g yie il VO (2353 donws il sl
] e 33 i diles FUT 1 32 S g0 ol eainn b a8y el | bl e g Sl e, il
8o (F Fo (¥ VALY Yo ()

-YF

-y

-¥A

-

-Al

=AY

-AY

-AF

-Ab

~AF

-AY

=AA

A4

A



KVRRY W P [ VST - Y RUX] WRUTR o e

hoanie TV gz &y Joo 3 5500 000
Tums g pladl 1) Slo 3 o1 iy Cond plaf (o300l e sla 9515 50

Yol slin s gz jo o) bilad U jebad flos jo pedladl g adad (ol s o Gl ) i e 5l S el
i e oof wspin (P o el o Jicn (T g pmin giﬂi st (T g iin + et oo S ()
ol e 55 LB s 0 alad G LS e cales i Sualal

G Lap 0 Syry e SIS (¥ Ay K ek gl s P Al O

aci El'?ﬂd "l..'l-'!?h Il L Sal g3y (t e n._!:.:J _,._.ri.Tn.l_n;,i.L‘r -._iﬁ.huﬂli.},:g-g.{‘l'

_ il plaf g iy e po S ST Lale o ks
Y pedile pgi (F alala (¥ corgem LY Y gz olasd (1

Tayle @il s ol Jicn s

ool o, ol e 2ss st IS Y ) jgmll ol (15 gz NG ()
a5 o2 Jlasl sl by acils Jobs BRESLGAEE ool pa SYGI (Y

5 ol Syl (IS Jhate b3 Nl jamee Job alS ol 2 (F
M oley malf s mblSs Lozl CERIE, &, LAl el 8 s Ll (F
Pl gl StV £y yuafnl g o puf

Crmeilan £l it Ga e Sl (Y s o M omal slal ()

ol ol sl s (F la gucks g mes ;5 Bllanid (T

oy goi vagna 5l 932 el plaS ey Colallias 4

s 3 o (1 Sl y ot s g S gle (Y gl

1 ol il Sl a3 o ST pdile sl g0y 58 (il 52
Iy S+ gt g+ (5 e gy g ()

S AS Gy gt (5 i slaasza + IS g S2Y (T
S+ L ¢t + il e 3o ple s T glaa e (T
Sl S + aa # by y ped gloan i ¢ ke e Il (glaacs e (F
¥ ] Flﬂfuﬂﬁﬂd&“’,}u n.unq.lﬂh‘_pf doiil 02 yase jpale adlbis }ﬂ-

O QY

T uf oo ploul alor o plad yo Ladaty ) Slazal o0

15.'-"3"’5'1.‘15!!4‘-.}’“!’” L‘.iJ‘.a..H.:lq_L-"_!.d.-‘;;_rJ.,__w-f{"
QJ:&,‘M}UI‘;_:.;hwquUqH.,&HJIJJ{f d#iﬁ!dj-.;ﬁ..}“}'..l‘.-”«r

S jlee o gl

i SV gy 3 Ly amke g2 gBlE Joe (1

(Back cut) 00 2 ,_;quna... g et e aleold (F

(Under cut) gjom o o amios 3 e (e abeol (T

(Under cut) iscn oVl jame g (Back cut) oo op b s Jsls 2o (F

€35 soliil Wil bxesr i Slifges plaf 51 ilidio plys g o Jaulpd 1o Slilges (salousy 4 w9 G9aS sl

rﬂﬂﬁhﬁ‘x#ﬁjr;%slﬁﬂul{f 'In;k_ibunﬂ-ﬂﬁlhﬁﬂjf"}ﬂﬂ?ph“d‘ﬂﬁ‘”‘“
P bl slp oy e e Gl gl U (T gei e ol gl olF g o5 BBl sl ol (7

®ayal olped 4 o 5y 1) Fljlial 4z (g 30i0e gloel 40 Gty 9lhe)l8 jf ealicul

58 JEJJ.lI.ql.I‘Fi!'h,‘_g.bﬂ,-ﬁ-hC_“.‘r LGkl 33 (£ 5iee -:;'l._.u|5.'-.-l."l"-.5.-.-.l~.'-#1.n (7

A8 e mals el LE lade ar g giea o)) e B ol Sl (F

L3, 5 ]y g ymee o Ol R0y 8 e 03 Bgle il (e U o el O

il add e alad Silles 32 oaf sane ialiBy

G35 8 pdee gl aas 5T Al s slaogr i g plad S S 2 50 sl ()

=i B ,l‘.-ﬁé;;éyl,atig@a;alﬁ wpdad pdee o S 3 s - SESS (Y
a.'..a.'l"!...-ljlﬂ--_lﬁ JLJ”uJibeﬂ}d-b‘;lnuﬁ h:ﬂ.ﬁ-#ﬂjpépjdth;ijahiﬂﬁ

it sz SIS e 8 o e 0 0 a0 )5 Sl 3 e gz g Sk s S0 Solaa (F
V] oo 2oz sga I g g sl Blm 50 bad g adad gla 15 po eolinal agge glapd f5e ot eilin
. XA (¥ VAes GAF-- (T VEen AT (Y Voo GAss ()

-1

_ar

-4

-8

-4 F

-4y

%A

-48

=YY

YT

-r"T'

—4+F



Y amie Yo e JE g Jee g g5l e i
Poasl plas glor g e SWZ 12 897 9% 39 e L Al ) (6559L08 5193517 4y Canad R0 gl 3935 17 s 42y

" _ \ v
e Mz sl iS5 0 g s 0 5 it golx 12 539 % SalaE ols onfl s 2 ()

_ \ Y
O (S gaenT 3 g s 13 T = sl 13 3 = i elagecsl 5 (Y

\ \
o oakst aile ode 43 ¥ 3 ol P 0 = colgle oS GNT

_ \ ¥
weBE 2 38 ; g sl 53 ?:.Sjﬂj-'s ke sl (T
e a2 po wam oy sl i 5 @ p i g S clbiogs 30 69790 o)) ey B silais 5 oyl & agl)

bd . FO (F be JFo (T FOLLOO (Y Froulie (A

Towwl pday gy dulpjl Suplad jo Lifoes oBiile jeae gly o Jood ojud

M rgege sl (F e e gl (7 Sas (Y ek ()
el by il B e glbaald 33 g fuedS Gl g0

028 8 et YU Gy iy ol sl (X Sl ot e il (53, 45y 508 sy ()
sl 0 Jlge a2l (59 i 2530 Syl (F 2y Ak Gatl B b 4w 2556 Sl (F

Pl 2 Slaler JlSaplol @ by o s 3 (31 ey

e g gl (F Gyl Jii g Joo (F 4yl Jaiggde (¥ sk

plmil Gl Gy b w50 LSuge g alad Sillae Joue Gl )3 ole jamme 6505 p0 i 5 el Silales allaie Sy jo &F e 50

ol 4 Y (Y Yl 4y ols 51

didily ca alaly 250 aded Sldacy sols il S (F 3jls Ko, eag bail oo (T
M 53 S Cats 53 S 30 0l 1 0 Salil g £ s 5 P ol pram iliaciy 23 g1y 40a 3 ol

i S et o (T i oz ()
Pl oo 5500 poptd 9 JAi g Joo Slalos sy )3 (o) aalllan sl oy 1 Saplad

& 38 CyeSilen (F phaica (T el s o (V s ()

30 ) o0 Jrowd smiiu 00aidl 550w ) gl iy 3l Suplad jo s 03l 3
i 038w Joad bgay g JUS) b (F e ol Jilas po 4 plad Sjpe 4 g5 g JISH el ()

Ml & Ji g ol 4 Jood g gjasls pdad (F 03,918 2o 3 oVl gz Elal @ oo s (T
Fogd oo el d 292 yumas (59) 41 0097 513 51 juaSial Bl g wgar (il
Sy (F Saaly s (T Sl (Y Sazaefd ()

il o Lot ( P51 0 s 3 1) Cosadl o 4y (S g pasin (panti 43 da Julye
Tt L S e [ RORCY

s Jab - S Fwg Bolee o gogloly o s Jobo o (Y

e Jib - (T g Bl o e gk o (g alsly e (T
w2l - e Jab et 591805 S - s Jobo (F
Falalaf wud 4 o 0aly poled 00d (50080 jlads gle Jma | ol
Spo-b Yy e ¥ty b T G el T G- O

w0 Vgl s B e il T S des Vg 1 (T

it demile B Yy pema T g bt T g pen Y i) (T
i - 0 e ¥ pp ke T D aile ¥ g - (F

Cajalioe 30 S o w1y 59T ge 0yl ami 093 08 b oS g oailio £y
Sleas! 235 (F o) e (Y ey b ads (Y L [

a3 90 Sages & o a3 el T e g 5l ] T B b 381 S ol M Sl (S I s aa g L
b Cel il ot ls jo Lig il o s e

YiF (f Y YIF (Y Y
............... J,.!I-QLT:'FJJ l.f.uu1t:_ll:,|u.l-=,n.: L}.I_‘.ﬁ-"l-..h.‘h :_.L'J.ljlﬁhi I}Lz':."'.l"'l'{":“!":"ﬂ dhdﬁq;}
rglazslal olioe begladulaza (T miigets d bl aals vl Cug (1

gt 4z lasl o il o8l & len bl Sge (T s S S Il Gl S L B o s gl 3ges e (T

-

=1

-

-1y

-ur

-1\¥

-8

-\

-1y

-114A

=114

T



Wi 3 il )15 590 3T (s Sl g S iand

b amio Yoy s olacil g oo pilsd
Pl 428 o8 S yaee i sleoly 1o alod b 1THY o Caan jaid glo oo 0 o el e wugead

diiiia ogd (¥ olpig ke (T wele (55,0085 sl (T S e plps (O
._:-.,_Jlim.'p_.iﬁ'lﬂmui'!lj.ld."ﬂl.tn! ............ ._rh}:"ﬂ‘:ﬂﬂljlﬂ_ﬁcﬂji,-ﬁi-ﬂjleﬁﬁﬂhi‘;ljt}“

ala it 5 oLuS5, 51 CF JSs b oka b 51 (Y LSy b g iS5 (¥ S o 55 ()

] dighar alogspo slb oo 30 ol olcisl dy oo a0 31 5500 propae gl AiliIla o i g 8 slae Saila
Jﬁﬂ&‘ﬂx%nﬂquff .-.':-3.; C&L‘l:‘l‘ l_r",.'i L;s'l'ﬁfh.i“

Uil arp 'y o e 2l ) Bl (F Gl i g 5 lge oy 4 pa (T

T, aalyii alad opalaly laglil 3o (Sdlsjls lacign o jlone pod Sileghia )l el (g oLl 3 (2)Y135 pilej 42 U
Juss (F ol F (T ola ¥ (T s ¥ (A

g (531055 50wl (55590 aulgl GBS 20 4 5l Jlad 33 0 jlifly glaSle ASa ol Corlass A3 viy Sl
To (F Yo ¥ &y W

Tagltign aatl 2 o pliS bwgi (513 508 )b 5152 Sl ey s Bl

355 gl g U JBar il (F a0k 3 o b hasls (T s 3 sLadl &l (¥ G5 o S ()
Pl disfn  vguad 3l 3l buvei ladzlijo g Lol 30 o o Caaitdle

Ay pad 3 pai g Shad B3 (Y il a o g g Shed B (N

o] Eyinn bad | Jy adly oo Shed LG (F b g bad g Slad LG (Y

il slogus Coll Cowd 03)b S 3 dbeol e shle Jilas JESa oo 40 48 aed e @M Lo a4 s Gloln jo £l
sl (F sy (¥ 2o (¥ sl )

Cadl g 23 b I SyphiS g0 gyl glag e sl 50alS 5yl il 3 glpa e IR plojlu plase )l oy ghiad
ol 3 lee 53 S il gl (T skl (59 po 4 il i (1

;Jigi? uphiJﬂnLj}L&ulh iIifLIi{? uj!ip-ualisﬂ =¥ LLataJ;ﬂﬁhrn{T

g el i Sl 33 gl el g ailpe i e jl Wil po Jot 4 ol e gt ailie el @ S &F 20 Sileladl 45 0
Taalad oo Jos g shaas 3 51 Suplad b Sldia

Al s (F a3l oo fBe (Y A3k o AF 0 (Y w33k 1, gai ()

Mo s pud ad Cuwd & s 00 g gl &1 4F A8 el g )laseiul g @ilie i plajle jyale Cublpe pas Fl 0 il

asle da G plie J35 (¥ als oK G plia S35 ()

Jho s Ziva a4y Sl Sleas 5l 21 1(E Jho S Dot 2hed Sileas gl S (T

Calei walar 1y 2 @orlpe 31 Saplaf Culblgn 3 198 Loz SSyly g O yale il dangus palild 3 Sonsl ASs G312 15
Ayl bl (¥ R

55 e ple plle all (F S sl Sy (T

g &ty SR il Sy 43338 pla8 Gab oCol (g3 Wl pliw 4olF 48 5923 g9z gale Clails,lF ey Clalis!
10 308 g0 23900 39S (513 ]

deadlis 1o S50 Saghe 3t (Y oualze j3 28 P0Gyl 5l (Y

as alns aalin | Sole ) adi (F sy Sles aalinal ogle, LAY

i o b ey alold ayle slom | cabiagla, dne 50 b yo e U o 53 Ul 555 slyo & el saler pp 2503 30 5l Sl il g2
e shaghss a3 2o,y

Y (F i FOY v

Casary 151 g 4z 33 ile 3 g 31 (5500 0 e 3 liz (g6 BF 20la 1yl Eadge (FHIST Bl ARG el Clos
all

o (€ ot (F ke (Y o 1

A i Laldl cenlas 5 PO O |Jl1.f l..'l';‘-:'l’l." _}1}'-! A il Lalar u.'q.'lr.;.ﬂ -..-.:.-:-‘4,_!..15 JLI!?.“ _:Ijl! 32 -‘_F:L:hn ,,5':?15' lj.‘_l' Gi_ﬂ
= [ - And

et = hoa paS gl (T Ftzre puaS (¥ S pe ()

................. mwﬂ‘lﬁlhwlh‘! J,I-:—iu-ﬂlﬂ!lﬂl ﬁﬂ_ﬁ*ﬂ ﬂrwﬂ’

s, oo fnlS “IJ; (Y ks, o 2al38 aal 3 ()

.qhwﬂ1}ﬂw,q.nlfl.\_glm1ﬁ[f ﬂw&d‘,@:u]‘,aﬂ

gl 4 ja il JUyTo 00 Jus alol ;0 udyi aisjh g adl TC=Fooo+ QT —FQ" +Q O .445-'-* Gy Sy 35 4l 3a 1
..................... b ! J.HJJ (TFCs JS'

TFC=r8e0, (¥ TFC=fesa, ()

) T
TFC=$’I:IM+ I:I- _PQ : t:l'

Tang Faoo Tooo Toos

TFC=rO" ¥+ (7

-7

-1TY

=Ty

=\TF

=-1ré

=1TF

=¥

=1TA

-1T4

TN

-

=-1TY

-1rT

-\TF

=\ré

-1TF

=Ty

=1 A



W asmie Yo e olasdly oo iled

bl Jy wolyFoe b ply Jlute jlam ol gy il Jols galyo g alib Jy aaly1o o gt aisf g BURS adyl aiujs 1
bl gl )L Lad 25110 dgue 5 2 4

. ks Foo o Fao
=too+Foo(V+ 10y (T =100 e (T =\oo4Foe(\=18) (¥ ~joo+ [
(178" (\=18)"
.................... 45 Sgal, 0 jLI."-T e ey ea il eild
iy g ol Janigis ady y ol ady (Y iy oo Rl IS5 adyi'y plgdady ()
ol bl o o 5 oy Ll sl o 2el8 ol ady (F e AU I adg Ll il e SRl ol Wy (T
...................... Sleazdl o Sue ail g0 ] Paian Ll plas
el miie g Sl slaacy s (Y s gyl o) 4 ladie | o A ()
el bl s g el L] St il daigie sy ia (F BTN I i - R ERLT | o
R Jﬂjmh]jb“drn‘.hlj
aleign Joo (A il Sy 4y e y g g0e o (F Sl lp e 3 sogne b (T
R
TP — b ol il — Oglat ol adl (S0l Sgu yi T g tyan ) ddad Sy S8 daly 58 YL alls asl o RS
Lyt ) Cand ‘_I:f' Ir';.'n'.r_ l-.lmwé’.wﬂ- ._':.l-_'.l.:-.lhﬁ ﬁfj-l.ﬁ"—-a;l::—'“
BT Y Y —— A Sl gy o) Sl [ 5 ol o g o g3lazd] Gl aladii )
ol g Z 5 g tilap (33l 2 (T RS RN OTLL
S g b oy Gl o, g5 (F b dgm 20 g L g 0, E5 (T
. LT R — Lﬂuq§?aaggiu#ltgjl
Slisla s ._;Lm:..l;,ﬁl.u...: (v sl sloas o Goe ()
o5 jlseale gloas, o Lo (F 10 0 e cloasy o Goae (7
.Nli!".:ﬂ' [ JJH-J.E o e (LY T— k_.ul g Coad |‘_]:-'Hl." jl l.ih-l}u. alold u:u_‘}i“..l
Jeals o als (F Sl tals (5 Saliil o aalsil (X eals sl
ﬂ.p:ll'ulun ................ W J.nh' Jlﬂﬂ.ﬂ __1.1jh 39 8 uﬂlEJ _J1J.LI L Jgj’i !L’.I_L*.i Mljd l.h.jh
Sl o Jay (F ol o ol (T FaF =L (T Sopas -l ()
el bioyly IS (gl 9oy ad oo bl lin JSD @y g2l 3 Syt 4230 5l nin 1
N PUTEETIE AB (1
T A AC (v
daly? y digsn AD (¥
JF wagym eyt BC (f
B gois 4230 Jaugs
D
: C
D g s
ol gl 8 P I naiisiandty § errioienias A b g M claosls o gl g Slusl g LS res @ by s sladl
s prices (T Soli - peiia (7 e = Sl (V S S )
i 1_].&-15' u:._lﬁ} Jljh a2 ,‘5.1.:15; .1:-‘! -._':..l dLéLi.T .,.-:h.-.n‘ - il _' ,;:.-HJ‘ :
el gl b aie g LS Lasil ala L V(Y o AW el ace g LS lasul sla Tl 5T (Y
el Pl 5 sl Bl g AYL el o Rl STCT il fiimily (el iz L 1 YL LS sl L STCT

-7

_\F.

-1F)

-1¥Y

-1FT

-\FF

-1f&

-\FF

-\FY

-\FA

-1¥4

=Yl



	00
	ACDSee PDF Image.



